SPRINFORS

LLlapHUpbI yrnoBbie C 3aXXMMOM (OLMHKOBaHHasi cTarb)

SPHEREJS - A MX
7
=B= ‘
- - MX1

Ref Pasmepbl  (mm) Ref Pasmepbl  (mm)

No | ' A| B | MX | D| MX1 No | 'A| B | MX | D| MX1
Koo1| 17 | 10 | M5x0.8 | 10 | M5x0.8 Ko14 | 20 | 10 | M6x1 10 | M5x0.8
Koo2 | 17 | 10 | M5x0.8 11 | M6x1 Ko15| 20 | 10 | M6x1 11 | M6x1
Koo3 | 17 | 10 | M6x1 10 | M5x0.8 Ko16| 21 | 10 | M5x0.8 | 10 | M5x0.8
Koo4 | 17 | 10 | M6x1 11 | M6x1 Ko17 | 21| 10 | M5x0.8 11 | M6x1
1130 | 18 | 10 | M5x0.8 | 10 | M5x0.8 Ko18| 21 | 10 | M6x1 10 | M5x0.8
Koos| 18 | 10 | M5x0.8 | 11 | M6x1 K019 | 21 | 10 | M6x1 11 | M6x1
Kooe | 18 | 10 | M6x1 10 | M6x1 1135 | 22 | 10 | M5x0.8 | 10 | M5x0.8
Koo7 | 18 | 10 | M6x1 11 | M5x0.8 K020 | 22 | 10 | M5x0.8 11 | M6x1
Koos| 19 | 10 | M5x0.8 | 10 | M5x0.8 1127 | 22 | 10 | M6x1 10 | M5x0.8
Koo9| 19 | 10 | M5x0.8 | 11 | M6x1 K021 | 22 | 10 | M6x1 11 | M6x1
Ko10| 19 | 10 | M6x1 10 | M5x0.8 1136 | 22 | 10 | M5x0.8 | 10 | M6X1
Ko11 | 19 | 10 | M6x1 11 | M6x1 1137 | 22 | 10 | M6x1 10 | M6x1
Ko12| 20 | 10 | M5x0.8 | 10 | M5x0.8 1139 | 18 | 10 | M5x0.8 | 10 | M6x1
K013 | 20 | 10 | M5x0.8 11 | M6x1 K022 | 18 | 10 | M4x0.7 | 10 | M4x0.7

(Standard application)




SPRINFORS

LUapHI/Ipr yrnosble€ C 3aXMMOoM (OLI,VIHKOBaHHaFI CTaJ'Ib)

SPHERE@10 - A MX
<l |
=B= ‘
. MXx1
Pasmepbl  (mm) Pasmepbl  (mm)

Ref. Ref.

No | A | B| MX | D| MXx1 No | A | B| MX | D| MXx1
K101 | 17 9 M6x1 11 | M6x1 K113 | 21 11 | M6x1 11 | M6x1
K102 | 17 9 M6x1 13 | M8x1.25 K114 | 21 11 | M6x1 13 | M8x1.25
K103 | 17 9 M8x1.25( 11 | M6x1 K115 | 21 11 | M8x1.25| 11 | M6x1
K104 | 17 9 M8x1.25| 13 | M8x1.25 K116 | 21 11 | M8x1.25| 13 | M8x1.25
K105| 18 | 10 | M6x1 11 | M6x1 1153 | 22 | 11 | Mo6x1 11 | M6x1
K106 | 18 | 10 | M6x1 13 | M8x1.25 K117 | 22 | 11 | M6x1 13 | M8x1.25
1133 [ 18.5| 10 | M8x1.25| 11 | M6x1 K118 | 22 | 11 | M8x1.25| 11 | M6x1
1121 [ 18.5] 10 | M8x1.25| 13 | M8x1.25 K119 | 22 | 11 | M8x1.25| 13 | M8x1.25
1122 | 19 | 10 | M6x1 11 | M6x1 K120 | 23 | 11 | M6x1 11 | M6x1
1134 | 19 | 10 | M6x1 13 | M8x1.25 K121 | 23 | 11 | M6x1 13 | M8x1.25
K107 | 19 | 10 | M8x1.25| 11 | M6x1 K122 | 23 | 11 | M8x1.25| 11 | M6x1
K108 | 19 | 10 | M8x1.25| 13 | M8x1.25 K123 | 23 | 11 | M8x1.25| 13 | M8x1.25
K109 | 20 | 10 | M6x1 11 | M6x1 K124 | 24 | 12 | M6x1 11 | M6x1
K110| 20 | 10 | M6x1 13 | M8x1.25 K125| 24 | 12 | M6x1 13 | M8x1.25
K111 | 20 | 10 | M8x1.25| 11 | M6x1 K126 | 24 | 12 | M8x1.25| 11 | M6x1
K112 | 20 | 10 | M8x1.25| 13 | M8x1.25 K127 | 24 | 12 | M8x1.25| 13 | M8x1.25

SURFACE PROTECTION: Zinc plated and white, black or yellow passivated(Standard application)




SPRINFORS

LLlapHI/Ipr yrrnosble€ C 3aXXMMOM (OLI,I/IHKOBaHHaFl CTaJ'II:)

SPHERE®@13 - A o MX
7
=B= ‘
O %13
. MXx1
Pasmepbl  (mm) Pasmepbl  (mm)

Ref. Ref.
No | A | B| MX | D| MXx1 No | A | B| MX | D| MXx1
K201 | 20 | 11 | M8x1.25| 10 | M8x1.25 K225| 26 | 14 | M8x1.25| 10 | M8x1.25
K204 | 20 | 11 | M8x1.25| 16.5 | M8x1.25 K228 | 26 | 14 | M8x1.25| 16.5 | M8x1.25
K205 | 21 11 | M8x1.25| 10 | M8x1.25 K229 | 28 | 14 | M8x1.25| 10 | M8x1.25
K208 | 21 11 | M8x1.25| 16.5| M8x1.25 K232 | 28 | 14 | M8x1.25| 16.5| M8x1.25
K209 | 22 | 11 | M8x1.25| 10 | M8x1.25 K233 | 30 | 14 | M8x1.25| 10 | M8x1.25
K212 | 22 | 11 | M8x1.25| 16.5| M8x1.25 1145 | 30 | 14 | M8x1.25| 16.5 | M8x1.25
K213 | 23 | 12 | M8x1.25| 10 | M8x1.25 1152 | 22 | 11 | M8x1.25| 13 | M8x1.25
K216 | 23 | 12 | M8x1.25| 16.5| M8x1.25 K236 | 30 | 14 | M8x1.25| 13 | M8x1.25
K217 | 24 | 12 | M8x1.25| 10 | M8x1.25 K237 | 30 | 14 | M8x1.25| 20 | M8x1.25
K220 | 24 | 12 | M8x1.25| 16.5 | M8x1.25 K238 | 20 | 11 | M8x1.25| 13 | M8x1.25
K221 | 25 | 12 | M8x1.25| 10 | M8x1.25 K239 | 25 | 12 | M8x1.25| 13 | M8x1.25
K224 | 25 | 12 | M8x1.25| 16.5| M8x1.25 K240 | 25 | 12 | M8x1.25| 20 | M8x1.25

SURFACE PROTECTION: Zinc plated and white, black or yellow passivated(Standard application)




SPRINFORS

SPHEREJ16

A

A

!

LUapHVIpr yrrnosbl€ C 3aXXMMOM (OLI,MHKOBaHHaFI CTaJ'Ib)

=B=
L mx1
- Pasmepbl (mm) Ref (mm)
No | A | B| MX | D| MXx1 No | A | B| MX | D| MXx1
K501 | 20 9 M10x1.5 10 | M10x1.5 K513 | 28 | 14 | M10x1.5|] 10 | M10x1.5
K502 | 20 9 M10x1.5| 15 | M10x1.5 K514 | 28 | 14 | M10x1.5] 15 | M10x1.5
K503 | 20 9 M10x1.5| 20 | M10x1.5 K515 | 28 | 14 | M10x1.5] 20 | M10x1.5
K504 | 22 | 11 | M10x1.5 10 | M10x1.5 K516 | 30 | 14 | M10x1.5|] 10 | M10x1.5
Ks505| 22 | 11 | M10x1.5| 15 | M10x1.5 K517 | 30 | 14 | M10x1.5] 15 | M10x1.5
K506 | 22 | 11 | M10x1.5 20 | M10x1.5 K518 | 30 | 14 | M10x1.5] 20 | M10x1.5
K507 | 24 | 12 | M10x1.5| 10 | M10x1.5 K519 | 32 | 16 | M10x1.5|] 10 | M10x1.5
K508 | 24 | 12 | M10x1.5| 15 | M10x1.5 K520 | 32 | 16 | M10x1.5] 15 | M10x1.5
K509 | 24 | 12 | M10x1.5| 20 | M10x1.5 K521 | 32 | 16 | M10x1.5] 20 | M10x1.5
K510| 26 | 14 | M10x1.5 10 | M10x1.5 K522 | 35 | 16 | M10x1.5] 10 | M10x1.5
K511 | 26 | 14 | M10x1.5| 15 | M10x1.5 K523 | 35 | 16 | M10x1.5|] 15 | M10x1.5
K512 | 26 | 14 | M10x1.5| 20 | M10x1.5 K524 | 35 | 16 | M10x1.5| 20 | M10x1.5

SURFACE PROTECTION: Zinc plated and white, black or yellow passivated(Standard application)




SPRINFORS Kopnyc wapHupa yrnosoro (nnacTuk)

Mx Pasmepbl (mm)
BN Ref.
!
AL é{ No | A [@B| MX
i A 7525 | 18 | 10 | M6x1
Cdepa @B /
SR . W—
SPRINFORS LWapHup yrnosou (NnacTuk)
- A
Cdhepa OB MX
| Pa3amepbl (Mm
1 |57 ! Ref. et _(mm)
= No
g % i A|@B | C | MX [SW |MX1
’_'r SW 7550 | 18 | 10 11 M6x1 | 10 | M6x1
© 7551 18 | 10 13 | M6x1 | 13 |M8x1.25
MX1 7552 | 18 | 10 [16.5 | M6x1 | 13 |[M8x1.25

BALL STUD: Zinc plated and white, black or yellow passivated(Standard application)




SPRINFORS Kopnyc wapHupa yrnosoro (oLMHKOBaHHas cTarb)
Mx Pa3mepbl (mm)
BN Ref.
!
A é{ No A | @B | MX
~ A MPO1 | 19 | 10 | M6xI
Cdepa @B
SR . W—
SPRINFORS LlapHup yrnoBon (OUMHKOBaHHAA cTanb)
- A -
Cdepa @B MX
i Paamepbl (mm)
1 |57 ! Ref.
— No
ajT_k& i A|@B | C | MX |SW | MX1
j: SW MP50 | 19 | 10 11 M6x1 | 10 | M6x1
© MP51 | 19 | 10 13 | M6x1 | 13 |M8x1.25
MX1 MP52 | 19 | 10 13 | M6x1 | 10 |M6x1

BALL STUD: Zinc plated and white, black or yellow passivated(Standard application)




SPRINFORS LWapHup chepuyeckun (ctanb)

B
d, Ci

S =

/
N
d

X
d, dy
ds SW

Pasmepbl (mm)

Ref.

Noo1d | do |SW| B | C|hi|do|ls|de|gdsl]ls
SI105 5 M5 9 8 6 27 18 36 85 12 8
SI1106 6 M6 11 9 6.75| 30 20 40 10 13 9

SI108 8 M8 14 | 12 9 36 | 24 | 48 |125| 16 | 12

Si110 | 10 M10 17 | 14 |105| 43 | 28 | 67 | 15 | 19 | 15

SiM12 | 12 M12 19 (16 | 12 | 60 | 32 | 66 (17.5| 22 | 18

Si114 | 14 M14 22 | 19 |135| 57 | 36 | 75 | 20 | 26 | 21

Si116 | 16 M16 24 | 21 15 | 64 | 40 | 84 | 22 | 28 | 24

Si118 | 18 |M18x1.5| 27 | 23 |16.5| 71 | 44 | 93 | 25 | 31 | 27

SIM20 | 20 |M20x1.5| 30 | 25 | 18 | 77 | 48 | 101 |27.5| 35 | 30

S22 | 22 |M22x1.5| 32 | 28 | 20 | 84 | 54 | 111 | 30 | 38 | 32

SI125 | 25 | M24x2 | 36 | 31 | 22 | 94 | 60 | 124 [33.5| 42 | 36

SIM28 | 28 | M27x2 | 41 | 35 | 24 | 103 | 66 | 136 | 37 | 46 | 41

SI130 | 30 | M30x2 | 46 | 37 | 25 | 110 | 70 | 145 | 40 | 50 | 45




SPRINFORS

@B1 MX
Bunka ] Y
(oumMHKOBaHHas cTarnb) "
A : A
B2 - 5
) D T
|
A
Ref. Paamepbl (mMm)
No | A |@B1 | @82 | c |D | E|F| G| wMX
2202 | 32 | 81 8.1 16 16 12 8 16 M8x1.25
2203 | 40 | 11.9 11.9 20 20 15 | 10.5| 20 | M10x1.5
2204 | 20 | 5.1 5.1 10 |105| 7 5 10 M6x1
2207 | 20 | 541 5.1 10 10 7.5 5 10 M5x0.8
2208 | 32 | 9.1 9.1 16 16 12 8 16 M8x1.25
2209 | 37 | 8.1 8.1 20 18 12 | 10.5| 20 | M10x1.5
2213 | 24 | 8.1 8.1 16 8 4 8 16 M8x1.25
2214 | 40 | 10.1 10.1 20 20 15 | 10 20 | M10x1.5
2217 | 25 | 10.1 10.1 16 16 12 8 16 M8x1.25
2220 | 25 | 8.1 8.1 14 13 9 7 14 M6x1
2221 | 20 | 6.1 M6x1 10 |10.5 7 5 10 M6x1
2222 | 20 | 6.1 6.1 10 |10.5 7 5 10 M6x1
2224 | 43 | 8.1 | M8x1.25| 16 20 | 15| 8 16 | MB8x1.25
2225 | 27 12 12 20 8 3 10 20 | M10x1
2226 | 40 | 81 8.1 20 20 15 | 10 20 | M10x1
2227 | 32 | 8.1 8.1 16 16 12 8 16 M6x1
2229 | 16 | 4.1 4.1 8 8 55| 3.3 8 M4x0.7
2230 | 24 | 6.1 6.1 12 12 9 6.2 | 12 M6x1
2233 | 16 | 2.4 2.4 8 8 55| 3.3 8 M4x0.7

SURFACE PROTECTION: Zinc plated and white, black or yellow passivated(Standard application)




SPRINFORS dukcaTop 4N BUNKK (OLMHKOBaHHasA CTarnb)

@q L
s iy ==&
(@] —| |
1|1 =
Ll
A |
1L ﬁ?\ —_
Y
LT
A
B

Pasmepbl (mm)

Ref.
No | A|lB| c | D|@d]| L

C001| 229|284 | 145 | 13 5.9 6.1
C002| 29.3|374 | 195 | 16 7.9 8.1
C003| 46.4|525| 195 | 32 7.9 8.1

SURFACE PROTECTION: Zinc plated and white, black or yellow passivated(Standard application)




SPRINFORS

MeTannuyeckas npoyLwuvHa

QE MX
\ K 7 |
/4R (
%J ]V7
Y i
— D |
B — A -
Y . -
¢
yd
i '
- QC ~eontl}
Pasmepbl (mm) Pasmepbl  (mm)
Ref. Ref.
N +0.1 No +0.1
O | A| B |@C D | OE MX A | B |@C D | OE MX
1300 | 16 3 6.1 5 11 | M5X0.8 || 1316 | 22 3 110.1 8 15 | M6x1
1301 | 16 3 55 7 13 | M6x1 1317 | 30 5 6.1 14 15 | M8x1.25
1302 | 20 3 6.1 7 13 | M6x1 1318 | 16 3 6.1 7 13 | M6x1
1303 | 22 3 6.1 8 15 | M6x1 1319 | 16 3 | 8.1 7 13 | M6x1
1304 | 22 5 8.1 9 15 | M6x1 1320 | 18 3 |61 6 13 | M6x1
1305 | 30 5 8.1 14 15 | M8x1.25| 1321 | 22 5 [8.1 9 15 | M8x1.25
1309 | 20 | 3 | 81 | 7 | 13 | M6x1 1322 | 30 | 3.7 | ]2.8510.5| 20 | M8x1.25
1310 | 22 3 8.1 8 13 | M6x1 1323 | 25 8 | 8.1 10 15 | M6x1
1311 | 16 3 6.4 5 11 | M4x0.7 1324 | 30 | 4.3 | 8.1 14 15 | M8x1.25
1312 | 22 5 6.1 9 15 | M6x1 1325 | 30 | 4.5 |12.8010.5| 20 | M8x1.25
1313 16 | 3 | 81 |7 | 13 |Méx1 |[1326 | 30 | 4.5|8 . .[10.5] 20 | M8x1.25
1314 | 22 5 51 9 15 | M6x1 1327 | 22 5 |81 9 15 | M5x0.8
8.35
1315 | 22 3 BUSHING 8 13 | M6x1 1329 | 28 5 [8.1 14 15 | M6x1

SURFACE PROTECTION: Zinc plated and white, black or yellow passivated(Standard application)




SPRINFORS MeTannunyeckasa npoyLunHa

E

7z
D)

Pasmepbl (mm)

Ref.
N +0.1

o A B aC oD | E MX
4190 18 10 6.1 16 10 M6x1
4191 36 12 8.1 20 10 M10x1.25
4192 18 10 8.1 16 10 M8x1.25

4193 22 | 12 | 121 20 | 13 | M10x1.25

4196 | 40 | 10 | 8.1 18 14 M8x1.25
DKO1| 18 | 10 | 10.1 18 10 M6x1
DK02| 18 | 10 | 10.1 16 10 M6x1
DKO3| 18 | 10 | 10.1 18 10 M8x1.25

DKo4| 16 | 10 | 8.1 14 10 M8x1.25
DKO5| 16 | 10 | 8.1 14 10 M6x1
DKo6| 16 | 10 | 101 16 10 M8x1.25
DKo7| 16 | 10 | 6.1 14 10 M6x1
DKO8| 14 | 12 | 8.1 18 10 M8x1.25
DK09| 20 | 12 | 8.3 18 11 M8x1.25

DK10| 20 | 12 | 10.1 18 11 M8x1.25

SURFACE PROTECTION: Zinc plated and white, black or yellow passivated(Standard application)




SPRINFORS MeTtannunyeckasa npoyLunHa

- oD B
A7 A
O
> S |
i N
L
A Al | ‘
_lmx |

Ref Pasmepbl (mm)

No | A|B|@c |eD|E | Mx
7701 |12 | 3 4.1 8 5 M3x0.5
7702 112 | 3 4.1 8 5 M3.5x0.6
7703 (12 | 3 4.1 8 5 M4x0.7
7704 |12 | 4 4.1 8 5 M3x0.5
7705 (12 | 4 4.1 8 5 M3.5x0.6
7706 | 12 | 4 4.1 8 5 M4x0.7
7707 |12 | 5 4.1 8 5 M3x0.5
7708 |12 | 5 4.1 8 5 M3.5x0.6
7709 |12 | 5 4.1 8 5 M4x0.7

SURFACE PROTECTION: Zinc plated and white, black or yellow passivated(Standard application)




SPRINFORS

MeTannuyeckas npoyLwunHa

- oD B
A A
\, 8
| 172)
w
- MX |

Ref. Pa3mepbl (mm) . Pasmepbl (mm)
No | A|B|ac |ep|E | Mx |[No |A|B| ol |@D|E | MX
7751|122 | 5 6.1 16 | 10 | M6x1 7763|122 | 5 6.1 16 | 10 | M8x1.25
7752 | 22 | 5 8.1 16 | 10 | M6x1 7764 | 22 | 5 8.1 16 | 10 | M8x1.25
7753 | 22 | 5 10.1 | 16 | 10 | Me6x1 7765|122 | 5 10.1 | 16 | 10 | M8x1.25
7754 | 22 | 6 6.1 16 | 10 | M6x1 7766 | 22 | 6 6.1 16 | 10 | M8x1.25
7755 |22 | 6 8.1 16 | 10 | M6x1 7767 | 22 | 6 8.1 16 | 10 | M8x1.25
7756 | 22 | 6 101 | 16 | 10 | M6x1 7768 | 22 | 6 10.1 | 16 | 10 | M8x1.25
7757 | 22 | 8 6.1 16 | 10 | M6x1 7769 | 22 | 8 6.1 16 | 10 | M8x1.25
7758 | 22 | 8 8.1 16 | 10 | M6x1 7770 | 22 | 8 8.1 16 | 10 | M8x1.25
7759 | 22 | 8 10.1 | 16 | 10 | Me6x1 7771122 | 8 10.1 | 16 | 10 | M8x1.25
7760 | 22 [ 10 6.1 16 | 10 | M6x1 7772 | 22 |10 6.1 16 | 10 | M8x1.25
7761|122 [ 10 8.1 16 | 10 | M6x1 7773 | 22 |10 8.1 16 | 10 | M8x1.25
7762 | 22 |1 10 101 | 16 | 10 | M6x1 7774 | 22 110 10.1 | 16 | 10 | M8x1.25

7775|122 | 8 8.6 16 | 10 | M8x1.25

SURFACE PROTECTION: Zinc plated and white, black or yellow passivated(Standard application)




SPRINFORS

MeTannuyeckas npoyLwuvHa

-0
7 A
) S |
| 172}
w
, , , , \
- MX |

Ref. Pa3mepbl (mm) . Pa3mepb! (mm)
No |a|B|@C |ep|E | Mx |[No |A|B|ol |oD|E | MX
1350 | 16 | 6 6.1 10 9 | M5x0.8 [[1370 | 31| 5 8.1 13 9 | M6x1
1351122 (10 | 81 |14 | 9 |M8x1.25/[1371 |32 |5 | 61 |13 | 9 |M6x1
1352 | 30 | 10 8.1 18 | 9 | M10x1.5|| MUO1| 30 | 10 10.1 | 18 | 9 | M10x1.5
1353 |27.5| 3 6.1 13 9 | M6x1 MUO2| 36 |5.5 8.1 16 9 | M8x1.25
1354 130.5| 5 | 81 |18 | 9 |M8x1.25/|MUO3| 31 /1565| 81 |16 | 9 |M8x1.25
1355 | 25 | 5 8.1 13 9 | M6x1 MUQ5| 25 | 8 10.1 | 16 9 | M8x1.25
1356 | 22 | 3 6.1 13 | 9 | M5x0.8 || MUOG| 25 | 8 8.1 16 | 9 | M8x1.25
1357 | 22 | 10 6.1 14 | 9 | M8x1.25/| MUO7| 25 | 12 10.1 {19 | 9 | M10x1.5
1359 | 25 | 3 6.1 13 9 | M5x0.8 || MUO8| 22 | 10 8.1 14 9 | M6x1
1365 | 16 | 6 8.1 12 | 9 | M5x0.8 || MUO9| 35 | 10 101 | 20 | 9 | M10x1.5
1366 | 30 | 8 8.1 18 9 | M8x1.25/| MU10| 35 | 10 8.1 20 9 | M10x1.5
1369 | 31 | 5 6.1 13 9 | M6x1 MU11| 25 | 8 6.1 16 9 | M8x1.25

SURFACE PROTECTION: Zinc plated and white, black or yellow passivated(Standard application)




SPRINFORS

MeTannuyeckas npoyLwuvHa

— ®D=
A A
) : |
| 177
L
ALl al |l ‘
I MX ]

Ref Pasmepbl (mm) . Pasmepbl (mm)
No [A|B|@c|ep|E| mx |[No |A|B|ac |oD|E| MX
MU51| 40 | 10 10.1 | 25 | 13 |[M10x1.5 || MUB5| 40 | 12 14.1 | 25 | 13 | M12x1.75
MU52| 40 |10 | 12.1 | 25 | 13 [M10x1.5 || MU66| 40 |14 | 10.1 | 25 | 13| M12x1.75
MU53| 40 | 10 141 | 25 | 13 |[M10x1.5 || MU6B7| 40 | 14 121 | 25 | 13 | M12x1.75
MU54| 40 | 12 10.1 | 25 | 13 |[M10x1.5 || MUBS8| 40 | 14 14.1 | 25 | 13 | M12x1.75
MUS5| 40 (12 | 121 | 25 | 13 [M10x1.5 || MUB9| 40 | 10 | 10.1 | 25 | 13 | M14x2
MU56| 40 (12 | 14.1 | 25 | 13 [M10x1.5 || MU70] 40 | 10 | 12.1 | 25 | 13| M14x2
MU57| 40 |14 | 10.1 | 25 | 13 [M10x1.5 || MU71] 40 | 10 | 14.1 | 25 | 13| M14x2
MUS8| 40 |14 | 121 | 25 | 13 [M10x1.5 || MU72 40 |12 | 10.1 | 25 | 13| M14x2
MUS9| 40 | 14 | 14.1 | 25 | 13 [M10x1.5 || MU73| 40 |12 | 121 | 25 | 13| M14x2
MU60| 40 |10 | 10.1 | 25 | 13 [M12x1.75|| MU74| 40 |12 | 14.1 | 25 | 13 | M14x2
MU61| 40 |10 | 121 | 25 | 13 |M12x1.75|| MU75] 40 | 14 | 10.1 | 25 | 13| M14x2
MU62| 40 |10 | 14.1 | 25 | 13 [M12x1.75|| MU76| 40 |14 | 121 | 25 | 13 | M14x2
MU63| 40 |12 | 10.1 | 25 | 13 [M12x1.75|| MU77| 40 |14 | 14.1 | 25 | 13 | M14x2
MUG4| 40 |12 | 121 | 25 | 13 [M12x1.75

SURFACE PROTECTION: Zinc plated and white, black or yellow passivated(Standard application)




SPRINFORS MpoyLwmnHbI cBapHble (CTanb)
. S
Rd | Re
N
B ac, _
T
i
Paamepbl (mm)
Ref.
No A |l B - Rd | Re
AO1 |135]| 3 6.1 6.5 [13.5
AO2 (135 3 8.1 6.5 [13.5
AO3 (175 3 6.1 7.5 [(17.5
AO4 175 3 8.1 7.5 [(17.5
A0S |175]| 5 6.1 7.5 [(17.5
AO6 (175 5 8.1 7.5 |17.5
A16 |145]| 5 8.5 7.5 [17.5
A17 |175]| 5 10.1 9 18
A18 (135 3 6.5 6.5 [13.5
A21 |175]| 5 8.1 75 [(17.5 Pin Attached
A22 |175] 5 8.1 7.5 |17.5 | Clip Assembled
A30 (175 5 9.5 7.5 [17.5
A32 [20.5| 5 8.1 7.5 [20.5
A51 (155 3 10.1 9.5 |15.5
A81 |105]| 5 8.5 7.5 [(17.5
A91 (105 3 4.1 5 110.5
A94 (105 3 6.5 5 110.5




	Страница 1
	Страница 2
	Страница 3
	Страница 4
	Страница 5
	Страница 6
	Страница 7
	Страница 8
	Страница 9
	Страница 10
	Страница 11
	Страница 12
	Страница 13
	Страница 14
	Страница 15
	Страница 16

